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This paper consists of 50 objective type questions. Each question

will carry two marks. All questions of Paper-II will be compulsory,

covering entire syllabus (including all electives, without options).

At the commencement of examination, the question booklet

will be given to the student. In the first 5 minutes, you are

requested to open the booklet and compulsorily examine it as
follows :

@) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal or open booklet.

(1) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to missing pages/
questions or questions repeated or not in serial
order or any other discrepancy should not be
accepted and correct booklet should be obtained
from the invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be
replaced nor any extra time will be given. The same
may please be noted.

(Tii) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

Each question has four alternative responses marked (A), (B),

(C) and (D). You have to darken the circle as indicated below on

the correct response against each item.

Example : where (C) is the correct response.

ONON NO

Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark at any place
other than in the circle in the OMR Sheet, it will not be evaluated.
Read instructions given inside carefully.

Rough Work is to be done at the end of this booklet.

If you write your Name, Seat Number, Phone Number or put
any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means, you will render yourself liable to disqualification.
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Political Science

Paper 1I

SIIMHA
g9uteRTt 11

Time Allowed : 75 Minutes]
Note : This Paper contains Fifty (50) multiple choice questions, each question

[Maximum Marks : 100

carrying Two (2) marks. Attempt All questions.

0 . W Y gredl.

AT : A1 TRAehd TR TR (50) SgUEREN U fooidl oTRd. e TRl g (2)

The Dharmasthiya court means :
(A) The Court of Criminal Justice
(B) The Court of Civil Matters
(C) The Court of Juries

(D) The Court of Try Sedition
Which one of the following

statements is not a criticism of Plato
by Aristotle ?

(A) Plato made no distinction
between ideal state and house-
hold

(B) His ideal state was nothing but

tyranny of reason
(C) The state is ‘writ large’ of the
individual

(D) Unity and not plurality is the
essential feature of the ideal

state

YU A IS ;

(A) ISR =T

(B) feamit =

(C) <= =rarera

(D) SRRl el FaauiR =Aerd

EATcAUeh] hId faam SREEied wieer
Holedl el IF A ?

(A) @M ARY TF 9 FHaded I

Tk hell el

(B) = ey 5T WU fadgehT=
TRATMR 3Te

(C) T T KA FEIHR 3

(D) SASHIHAT 78 T Tl § eI
T 3B dfyTed 3R

[P.T.O.
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Select the correct answer by using

the codes given below :

(1) Machiavelli’s basic assumptions
about the nature of politics are
the same in the Prince and the
Discourses

(2) The Discourses was the
continuation of argument for
strong monarchy

(3) The Prince should not make
profession of goodness in every
thing when he was living in
many who were not good

Codes :

(A) (1) and (3) are correct, (2) is
wrong

(B) (1), (2) and (3) are correct

(C) (1), (2) and (3) are wrong

(D) (1) and (2) are wrong and
(3) is correct

Give correct answer by using the
codes given below :
Assertion (A) : Hobbes—a great
proponent  of
absolute sover-
eignty—laid the
foundation of
liberal theory of
state.
He asked the
state to ensure
liberty of indivi-
dual by giving
him autonomy in
the economic
sphere.

Reason (R) :

Codes :

(A) (A) is correct but (R) is wrong

(B) Both (A) and (R) are correct
but (R) is not the correct answer
of (A)

(C) Both (A) and (R) are correct
and (R) is correct answer
of (A)

(D) Both (A) and (R) are wrong

DEC - 15213/11

Erell foeiean hd gl 9 e
I IW A
(1) T o g fegmia a1 = T
USThRUEEAHl Heblegail=l HeAYd
el THAREE AR
(2) ‘fegnda’ Ad M ToTaH TSRl
St YfHen M el 3118
(3) S TS AN AT ElehTd
TR STl A M Tieh sredia
SR S 7
Hehd Gt :
(A) (1) 9 (3) s 3ed, (2) Tk
3R
B) (1), (2) @ (3) = A
(C) (), (2) F (3) =H RA
(D) (1) & (2) Ik ARA M (3) S
3R
@rel! faeTedn Hehd FET= 9T HEd I
IS5 RO | I
faam (A) : mafe  ard wWigcarat
qI&HR HIOMAT Bles
TSAT=AT - 3GRUAATRI
fagmareT 9= =Tae.
HROT (R) : T & el 9gH
THEA M T (=
QAT g STy
e
Hehd G :

(A) (A) R 3¢ 90 (R) Ik 3R
(B) (A) A0 (R) S e 3T&d 901
R) T (A) = IFF IW A&

(C) (A) 3ftor (R) St sIeX 371 1o
(R)  (A) ¥ I W 1

(D) (A) & (R) S8 Ik 3T




PS(zFever.#

Which one of the following pairs is
correctly matched ?

(A) Opposition to — Bentham
Natural law

(B) Political — Rousseau
obligation

(C) Self-regarding — T.H. Green
liberty

(D) Civil religion — J.S. Mill

Select the correct answer by using
the codes given below :

(1) The relations of production are
constituted by division of labour.

(2) The relations of production form
the structure of society.

(3) The relations of production form
superstructure of society.

Codes :

(A) (1) and (3) are correct, (2) is
wrong

(B) (1) and (2) are correct, (3) is
wrong

(C) (1) is correct, (2) and (3) are
wrong

(D) (2) is correct, (1) and (3) are
wrong

Which one of the following pairs is
not correctly matched ?

(A) A. Gramsci — Hegemony
(B) V.I. Lenin — Imperialism
(C) Mao-Tse Tung— Mass line
(D) Stalin — Theory of

three worlds

DEC - 15213/11

WU IV SISl T Tehi Jeoolcl]

qE 2

(A) wEfifs HEeTE — sdm
ferry

(B) USThig &¥H — w4
(C) W-Hasht Waa — A= T
(D) AR e — Sy foa

@relt feeiean Hehd Geftel s & A

3L =M ¢

(1) e Hae SH-TI9NTofe sevard
3l 37,

(2) IcUTET GEY FATST=A] =99
TSddId.

(3) I ot FHTSTAT 3T¢R GLE-9
Tsddid

Hehd 'F[\a':f :

(A) (1) 30T (3) =R 3Ted, (2) Ih
15

(B) (1) 3101 (2) AR 3Ted, (3) <Ih
15

(C) (1) IR 3., (2) 9 (3) I
aTed

(D) (2) IR 3, (1) 9 (3) I
aTed

ETATAd ] HITAT SISl JT JHR

Joaugd el T ?

(A) T T — YR

(B) =3 AfF — THEIdR

(C) WA-- 1 — HE arEA

(D) reiA — ST

fagia

[P.T.O.
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Which one of the following

statements is not correct ?

(A) M.N. Roy moved from
Communism to New Humanism

(B) V.D. Sawarkar moved from
armed revolution to Hindutva

(C) Jai Prakash moved from
Sarvodaya to Nav Nirman
Movement

(D) Aurobindo Ghosh moved from
the armed revolution to
spiritualism

Which one of the following thinkers

declared that our credo was

relevance and action and we must

reach out to the people ?

(A) I. Berlin

(B) D. Easton

(C) Karl Deutch

(D) T. Parsons

Which one of the following pairs is

not correctly matched ?

(A) I. Berlin — Two concepts

of Liberty

(B) J. Rawls — Theory of
Justice

(C) Robert Dahl — Taking rights
seriously

(D) C.B. — Democratic

Macpherson theory—essays

in retrieval

The post-cold war comparative

politics prefers to classify

the contemporary political systems

as :

(A) Oriental and occidental systems

(B) First world, second world and
third world systems

(C) Democracies, transitional
democracies and non-
democracies

(D) Primitive, traditional and
modern systems

10.

11.
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(A) THTE. T A FEERMEA 69—
HedIehs doae]

(B) fa.q1. HEOTHT WIS SHIdIHA
fegwahs descl

(C) S Yehl HafeAdrygd Fa-fafo
desdcichs ]

(D) srxfag =sr |YTEA HIATATHA
FATHARIhS T3]

TTeIeTdeh! hioTe foamear STef s

Helt i gHTA Sifecd 9 Fdt ©

3 3fEee ST A=l ko d die=re)

arfest

(A) 3. dfcdq

(B) iﬁé@r

©) g?i[?‘?l

(D) 4. gEH

ETATAdeh] HITET SISl T YRR

el T ?

(A) 3. dfcq — THYLH Ah
foreret

(B) 9. U™ — T9e1d o
N

(C) s e — 2fe WEH
Tafget

(D) o). Hphdd — SHHIEH
o —as 31
e

SAgER AreAfTeh TSaRMEA HHeRTC

USThTT FIEATE I HTOT HIATT

GTeieTdeh! ShivTeT SFTTeRTond grem faet

A ?

(A) dtafea emfor oify=mreg Te e
RSl

(B) Ufgcd ST, SE-AT SATdiel TIfur
9= Sl USTeh 9 o]

(C) TAThIME!, THHUTHRTA R3]
anfor foTR iRl SeEen

(D) offew, aRufie offur smyfis

A SEAR B R
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Which among the following
constitutes the basis of classification
of political systems in ‘Comparative
Politics : A Developmental Approach’
by Almond and Powell ?’

(A) Distinction between Western
and Non-western political
systems

(B) Distinction between democratic

and non-democratic regimes

Secularization of culture and

structural differentiation

(D) Distinction between charismatic
and rational-legal authority

Which among the following is

the source of American

Constitutionalism ?

(A) Doctrine of parliamentary

sovereignty

Collective responsibility of the

ministers to legislature

(C) Territorial division of power

(D) Limited monarchy

Which among the following is a

conversion function of the political

system ?

(A) Political Socialization

(B) Political Recruitment

(C) Regulation and control of
human behaviour

(D) Interest articulation
The five-fold classification of
bureaucracy as representative
bureaucracy, party-state
bureaucracy, military dominated
bureaucracy, ruler dominated
bureaucracy and ruling bureaucracy
is attributed to :

(A) Max Weber

(B) La Palombara

(C) J. Leeper Freeman

(D) Marle Fainsod

(®))

(B)

12.

13.

14.

15.
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‘Fifex Uifdifcad : T Sxaaded 3=’
I AT UG AHS AT Waer AT
AAMGHH TSTeh 1 HILTS IR0
GTeAlcTieh! hivfcal dxaredl STER sl
e ?
(A) 9=t 9 foRr q9fyadt USe =
2EEsAl|
(B) heel & TR clihsmel sfae
(C) T&hfaa Ufehienur sTfor T=acdeh
IERINIETW
(D) acifeha Tfyer offor gfgiiss
Junfae S1fyaR
efteTdesht iU d<d § STHRen! we1-
RN Eid WA H@Ed S ?
(A) TE HEYHET™ a7
(B) "fHeaRt ®EcHSEMd e
RS IAS CIEHE
(C) Ui gxrfaureHNE <
(D) HAifed Tema
GTeAteTdeht ShIvd 1 & ASTeh T TS
"TUR wE WA el S ?
(A) TSThig FTHTSTER R 0T
(B) TSTehiA ¥t
(C) "Mt adqre fama enfor fsm
(D) feagaHmn Sfash
GTeATAdeh] hTOTT ST eh e
FfteRTor grfafafes TeRmel, 8-
R IME, AR AT h IS, TSkl
TRl TSTehdl AIehSTel 3T

p

Z1)
D
b

[P.T.O.
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17.
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All political structures are
multifunctional, however, according
to Almond and Powell political
parties and bureaucracy are
primarily :

(A) Interest articulation structures
(B) Interest aggregation structures
(C) Communication structures
(D) Socialization structure

Elitist theory emerged as a reaction
to :

(A) Classical
Marxism

(B) Neo-liberalism
(C) Neo-Marxism
(D) Feminism

Match List I with List II by using
the correct codes given below :

List I
(1) Japan

liberalism and

(2) Germany

(3) Nigeria

(4) Russia
List II

(@) Bundesrat

(b) Federation of Council

(¢) House of Councilors

(d) Senate

Codes :

A) (1¢) (2-a)

(B) (1-d) (2-¢)

(C) (1-b) (2-d)

D) (1-d) (2-b)

(3-d) (4-b)
(3-b) (4-a)
(3-a) (4-)
3<) 4-a)

16.

17.

18.
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o™ Sehid AT agehTaicHeh 3T
Ul STCTHE AU Gfdel AT Hd TSTeh
gl ST TREmE e geId

(A) Teagsiym sTfasehR HTom=a1 9=

(B) feq@siers AR HIOM=AT
HEAT

(C) Tg=H FL= e

(D) GTAETTIHIHIOT HIOM=AT T

AfYSaR fagiarn 3¢ 31 Wielicideh
ShioTeT fel= Sgegretl Fitiishal % Sea™
e ?

(A) AT SeRHdae 3T AT
(B) Ad-3<HAAIG

(C) -a-Hede

(D) Gita

Erell fooiean Fehd T AR HE

R e < 0 | B e M | =
Sfosdl ¢
o 1

(1) 9=
(2) A
(3) ARSI
(4) IIEn

(@) TSHe

(b) HEWH AH HifHd

() T A® Hifged

o 11

@) e
wa T

(A) (1-¢) (2-a) (3-d) (4-b)
B) A-d) 2-) 3-b) “4-a)

(C) 1-b) (2-d) (3-a) (4-)
D) A-d) 2-b) B-¢) (4-a)
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19. The deliberative powers of the

20.

the era of

Globalization have considerably

legislature in

declined because :

(@) Availability of several public
fora to articulate the interests

of society

(b) Urgency for quick decision

making

(¢) Increasing technicality and

complexity of issues

(d) Pressure from neighbouring

countries

(@), (), (c)
b), (c), (@)
(@), (c), (@)
(@), (b), (d)

(A)
(B)
(®))
(D)

Who among the following outlined
the types of dependency as colonial
dependency, financial-industrial

dependency and new dependency ?
(A) Paul Baran

(B) Andre Gunder Frank

(C) Theontonio Dos Santos

(D) Fernando Henrique Cardoso

DEC - 15213/11

19. STIfdeh IR I0T=AT HTRBA HEASHS R

20.

==l HTUIre 3R SR &fiur Bid 3R,
<hTUT

~

(@) FATSTAIA fafaer feaas em=an
ANTTRAETS ST | JHTOTd
HESiTeh Ha 39T el 3ATRd

(b) 3= foi el SvaEt fes
A9

(c) UTAT AR & qifAhdl aT@al

R

(d) VST INTHET S99 aTed

e

(a), (b), (c)
(b), (c), (d)
(@), (), (d)
(@), (b), (d)

(A)
(B)
(®);
(D)

EciTeTdeh] ShIOCT STVATHRM * JTHTR{deh
Wracter’, ¢ foxia-3ienfier wesifec’
afifor  Ta-eadfee’ T8 TEdfde

YR T hol 3T_d ?

(A) 9 &

(B) 315 X Théh

(C) fusiEiften efq H=rg
(D) ®EFE <@ el

[P.T.O.
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22.

23.

24.
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The idea of separate representation

for Muslims was first introduced by

the British in India through :

(A) The
Act,

The
Act,

The
Act, 1919

The Government of India
Act, 1935

The freedom to fly the National Flag
comes under the purview of which
Article related to fundamental
right ?

(A) Article 19 (I) (a)

(B) Article 19 (4)

(C) Article 20

(D) Article 23

Which of the following Directive
Principles of State Policy shows the
sensitivity of the Government
towards the Environment ?

(A) Article 50
(B) Article 49
(C) Article 46
(D) Article 48 A

Which Constitutional Amendment
made it mandatory for the President
to give his assent to an amendment
to the Constitution ?

(A) 26th Amendment
(B) 25th Amendment
(C) 24th Amendment
(D) 23rd Amendment

Government of India
1892

Government of India
1909

Government of India

(B)

(©)

(D)

21.

22.

23.

24.
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Tk IV HRRIES  TEAH
fawek gfaHfyc=n gk 9999 9SH
HLOITT 3Tl ?

(A) 1892° HRd HIhHI
(B) 1909< HRd HIhHI
(C) 1919 HRd FIhHI
(D) 1935€1 HRd HIhHI
TTCIeTieh! SIv] AV AR -
= HAATHER TLETS HSh AT
QA FHee Bl ?

(A) ™ 19 (D) (a)

(B) &c® 19 (4)

(C) =he®m 20

(D) M 23

e e IS R o B ) et e T T | R

WeAeTdeh! RV qedl JATSRUT= Hewtd
AT FAeAied g9fed 2

(A) hetH 50

(B) =het® 49

(C) <hetH 46

(D) el 48 A

T IV TAGEI S T
Ad AT SeAgeH fagahran
qodicyie Ta1aRt &0 s aX
SETRNEh HOAE A A 2

(A) 269t HEAGEEI
(B) 254 weAgEil
(C) 249t HEAIGEEi!
(D) 23l weAgEi

chldql

chldql

chldql

chldql
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26.

27.
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Which one of the following practices
is followed as a convention while
appointing the Governor of the
State ?

(A) The person concerned must be
the resident of the state to which
he or she is to be appointed

(B) The person concerned must be
a member of the ruling party

at the centre

(C) The person concerned should
not be a resident of the state to
which he or she is to be
appointed

(D) The person concerned must be
well versed in the official
language of the state to which

he or she is to be appointed

The power to pardon of the
President of India is based on the :

(A)
(B)

discretion of President

advice of the Supreme Court of
India

(®))
(D)

advice of Council of Ministers

advice of Attorney General of
India

Which one of the following Parlia-
mentary elections was a midterm
election ?

(A) Parliamentary election of 2009
(B) Parliamentary election of 2004
(C) Parliamentary election of 1996
(D) Parliamentary election of 1991

25.

26.

27.
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PEE D e I G e q‘-l”!fh chdll

EATeTdeh! IVl Fehd HaHTEIOTI0l
Uledell Al ?
(A) TSIUTe Y&t Tged B0t okl =

TSl Ugardl ST gat

(B) 33N UKl <hg IMEATd T
AT U&=l 99Ee A9Ta

(C) o1eft =l = At Ygardl
BEic]

(D) 3TN Sekitel 1 A= SAfHFHd
o1 ANTel 3T et difest

HRATA AT ST hLodr= SAEHR

(A) AT W=SIYsher Tearid 3T

(B) Har=d <IEr=AT oodTer ST

e
(C) Hfufrse=ar gocamax aenfa

R

(D) HETHaacdr=al Hoodray AT

R

Eefierish! i H9sE Faeusw &

edqd feeuew e ?

(A) T&Er feeus 2009

(B) @¥er fHareu 2004

(aV o

(C) & fraeus 1996

(D) TEer e 1991
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[P.T.O.



28.

29.

PS(zFever.#

Which one of the following judges
of the Supreme Court practiced

Judicial activism ?

(A) dJustice Patanjali Shastri
(B) dJustice P.B. Gajendragadkar
(C) Justice J.A. Shah

(D) dJustice V.K. Krishna Aiyer

Give the correct answer by using
the codes given below :

Assertion (A) : There is erosion
of public support
to national parties

after 1991.

The division of
the Janata Dal in

based
parties was the

Reason (R) :

caste

result of post-
Mandal politics.

Codes :
(A)
(B)

(A) is correct but (R) is wrong

Both (A) and (R) are correct
but (R) is not correct answer
of (A)

(C) Both (A) and (R) are correct
and (R) 1is the answer
of (A)

(D) (A) is wrong, (R) is correct

28.

29.
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Taied AT WIeTeTdehl  ShIuTe

R =AAeRE Wehiadl Td8RId

et ?

(A) 1. TaSiedl Imet
(B) =M. d.&l. TSETEHT
(C) =1 S.U. @I

(D) =M. Hl.Sh. F FER

Erelt feeiea Hehd Getal AR h&d Ay

IS KO | I

faeam™ (A) : 199170 USSF T&Il
fHesu=a <ieshT=a T SeATa
= 7.

ERO (R) : HSAIR USROS
SHAl S 39k STTdleR
i geHey faveH
ELSE

'-H"E‘F’Fcf W :

(A) (A) SRR 378, (R) <

(B) (A) 31 (R) & T=l e 3Ted
™ (R) ¥ (A) 9 IW RN

(C) (A) 3T (R) & T=l ek 3Ted
afr (R) ¥ (A) ¥ SW 3ME

(D) (A) =& & (R) =X 3
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30.

31.

32.

PS(zFever.#

One of the important peasant
movements in India aggressively
supported new economic policies
because :

(A) It held that the NEP would
compell the government to give
remunerative prices

(B) It would help farmers to get

remunerative prices for their
land

(C) It would open the world grain

markets for Indian peasants

(D) It would strengthen the lands
fo Agricultural

Commission

Prices

public
advocated :

(A)
(B)
(®);
(D)

New management

Administered development
Market-friendly administration
Bureaucratisation

More investment in public
sector

Reservation of seats for women in
Panchayati Raj institutions seek to
ensure :

(A) Sense of security
(B) Economic welfare
(C) Empowerment

(D) Economic equality

30.

31.

32.

DEC - 15213/11

YRATIA Teh] He<ar=Al Iaehll dedda

T anfder drome wfssn feam, R .

(A) T3 3Tfefer RO TR IqHTed
[ER RGN ke iRt B D S

(B) Sdh=a9 = SIHATE foRhrasiT

R Haefgvay ugq wia

(C) YR Saeh=AT9Tar ST=r=it SINTfaeh

SSIRUS Gl hdel

(D) $° HTI TATME A TBHS
HA

TI- AR ATELTIA  GRIeTdehl THhT]
RN el :

(A) TR faehm

(B) SSIRIYE 9RmEd

(C) IhTIMEIHT

(D) HESIeh &5 Sifus T[aaueh

(el

Ff¥ed FoaEe <A

JEicush! Th
A AR
(A) gUEda=i e
(B) afedeh sheaml
(C) HaciehIul

(D) afefer HHM

13
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33.

34.

35.

zFever.*

Match List I with List IT and select
the correct answer from the codes
given below :

List I
(Theory of Organisation)
(a) Scientific Management Theory
®)
(c)
(d)

Bureaucratic Theory

The Classical Theory

Human Relations Theory

List II

(Associated with)

Henri Fayol

F.W. Taylor

(3) Hawthorne Experiments

(4) Max Weber

Codes :
(@)

(A) 3)

(B) (2)

© @ @®» B @

M D B @ @

Which principle of organisation

enables one to fix responsibility at
different levels ?

(A) Hierarchy

(B) Span of Control

(C) Unity of Command

(D) Delegation

One of the disadvantage
‘Efficiency Rating’ is :

(A) It is flexible

(B) It brings rigidity

(1)
(2)

b)
(2)
(4)

(c)
4)
(1)

(d)
(1)
3)

of

(C) Itis easy to favour an employee
(D) It is subjective

33.

34.

35.

DEC - 15213/11

TEl 1o ger 11 A= Sl «ren S
feoied Hehd =1 SMER SR IW

w1
(Heeran fagia)
IS Feeeed fagid
Arepemal fagT
sifea fagra
Mt gay fagi
w11
(sruTeit Ftfea)
AU RIS
Th.gsy, R
(3) BEH WM
(4) e I
Hehd G :
(@) ()
A 3 (@
B) 2) @
@ O B3 @
O @O B @ @
HESTSAT hIIC TETIHR AT TTes]
qracsaiel Saeerl = w0 v

ed ?

(@)
b)
(c)
(d)

(1)
(2)

(c)
4)
(1)

(d)
(1)
(3)

‘wrdgHd geasAren’  (Efficiency
Rating) Th QW IE
(A) d wEfaeh T8d

(B) d dieX 3 4d

(C) I TETRN Haehlal HRHS vl

Y T9d
(D) 9 e A
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36.

37.

38.

39.

PS(zFever.#

In National Whitley Council

in V.K.

(A) The Chairman of the Council

belongs to the official side

The Vice-Chairman of the

Council always belongs to the

official side

(C) In the absence of the
Chairman, Vice-Chairman
presides over the meeting

(B)

(D) Decisions of the National

Whitley Council are binding on
the Government

Which of the following is not the
main element in Weberian model of
bureaucracy ?

(A) Rules

(B) Hierarchy

(C) Oral Orders

(D) Decentralisation

One of the dimensions of leadership
behaviour, according to ‘Theory Y’
is :

(A) Human Relations

(B) Organisation-centered
(C) Concern for productivity
(D) Autocratic style
Performance Budget focuses :
(A)
(B)
©)

Expenditure involved
Staff requirement

Functions, and

capacity

purpose

(D) Total income

36.

37.

38.

39.

DEC -15213/11
Toendd TIFa fRed Sifaamsy
(A) Hif-Fe= 1A AN giarfae
& (Official Side)
(B) wifger=n Iuiedsl AgHl IMEAT
gfafferee sl (Official Side)
(C) AAT= RS IUedel 9o
AT JoTeIdll
(D) e fegear wifaem Saciel fof
TMEATET SEFehReh ST

ST AR JEuTEl Jeierde]
HIU TS Heh A ?

(A) frm

(B) THIAHL=A

(C) diet e

(D) faehsret

8@ Y (Theory Y) STER A7
AT JEeeR! T U] ST

(A) Al HaY

(B) HerEAI-shigd

(C) STREAGHITES SIHIIT

(D) TR Feft

FHrdAed SATSUARIT GEeTdh! Teh
ST 3T

(A) &=

(B) Tehiam= TR

(C) &, 3fee a &l
(D) THU T

[P.T.O.
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40. Which of the following is not a

41.

42.

characteristic feature of ‘Good
Governance’ ?

(A) Participation
(B) Rule of Law
(C) Transparency
(D) Bureaucratisation

Which among the following are the
important factors in the Game
theory ?

(@) Conflict

(b) Rules of the Game
(¢) Rational Behaviour
(d) Strategy

(e) Personality factor
A) @ b)) © @
B) @ ) d (e
C) & ©© @ (@
D) @ © @ (e

Which of the following is the
Realist perspective of National
interest ?

(A) National Interest and
international security are
necessarily compatible

(B) National interest is constructed

through social dynamics

(C) The core of National interest can

be objectively determined
(D) Idea of National interest
changes when the party in

power changes

DEC - 15213/11

40. ‘' GITHTHERR™ Edis! Hivd THh

41.

42.

Sfrea A& ?

(A) H&um

(B) wrIEm STfERs"

(C) UREITehar

(D) ArRTRMEeRT

WeleTdeh! hivd B fagaa Heam
ek ARd ?

(@) GoH

(b) e from

(c) Toaat ad=

(d) &R

(e) HAfFIHAT Th
A @ & © @
B) @ &) @ (e
©) b @© @ (@
D) @ @© @ (e

et Usfedifasri=n araqaang]

gfteehtor shiorar 2
(A) Treefed oTfor STased gRem ©

TeTd s d TR 3R

(B) Usfed & QTS Tfdawaigil ol

Sid

(C) Tsefgaren e axgfrssun fAfv=d
HL Idl

(D) Hxdidl 98 SQotell ohi UsfEdr=t

Qe | A MG Gty
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43.

44.

PS(zFever.#

Which of the following are the
elements of soft power of a state ?

(@) Culture

(b) Language

(¢) Foreign Aid

(d) Weapons

(e) Diaspora

A) @ @© (@ (e
B) @ @ ©© @@
C) (@ b)) (@@ (e
D) @ b)) ©© (e

With respect to International Law,
which of the following statements
are false :

(@) Treaties are a principal source
of law

(b) The behaviour of states in
international relations is limited
and regulated by international

law

(¢ Compared to national law,
international law is a strong

law
(d) Due to lack of sanction of force,
International law is code of

international morality
(c), (d)

only (c)

only (d)

), (d)

(A)
(B)
(®))
(D)

43.

44.

DEC - 15213/11

GTeAeTdeh ShIUTd Sk TSIT=A1 Qe T
Heh 3Rd ?

(@) &Pl

(b) wren

(¢) Tl feoiar sreddmer=

(d) =TS

(e) TN TAMIh ATl HHS
A) (@ @ (@ ()
B) @ ® ©© @
C) (@ b)) W (@
®) (@ (o)

D) (@)
HIU foue <geR eARd ?
(@) HI 3 HIATA THh HETAR

LI 378

JATATZTT FTIATGR USATA
STRASE WY g a9
ERIECIETSIS I

QI SHIFET=A Jod STasE ™

HES A vfeemen eTR
ST Uidded] 3THTEl AT

(aWa

SIRERE]L

)

(c)

(d)

HEET TEUN STASE

Tt s/d
(c), (d)
(B) ™ (c)
(C) & (d)
D) (), )

(A)
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45.

46.

47.

PS(zFever.#

Which among the following pair of

countries are demanding a

permanent seat in the Security
Council of the United Nations ?

(A) Germany, Canada

(B) Japan, South Korea

(C) Switzerland, Canada

(D) Germany, Japan

An action taken to avoid disputes
from arising between countries and
to avoid existing disputes from
escalating into conflicts is referred
to as :

(A) Collective Security

(B) Alliances

(C) Conflict Resolution

(D) Preventive Diplomacy

Select the correct answer from the
key given below :

The of the
International Economic

New
Order
included the restructuring of :

(@)
(®)

agenda

International trade

International monetary and
Financial system

UN General Assembly
World Trade Organisation
(b), (c)

(c), (d)

(@), (c)

(@), (b)

(c)

(d)
(A)
(B)
(©)
D)

45.

46.

47.

DEC - 15213/11

Tl v o=l SEl T
o=l GRaN aRvied hEH  HeEc|
AR A TR ?

(A) ST, &Sl

(B) UM, Tfeqor whifan

(C) Toerds, ws

(D) AT, STaH

FYRIMAEY fode 3= B0 v IrETat,
T St Tgcien foarere gosia
FUTAX Q0 2[0S Sheledl il i
U ?

(A) wrfes Heat

(B) TR HIX

(C) Fus dreau

(D) dfqaees T

Tl fededan geEmega siiel 3w
IREEIEE

T SATATSSTT 3TTfeleh  Saed =
FRIHHUTHER WeATeTdeh! I T
Fuferd Bt ?

(@) SARALE SR

(b) STaWeE fau a Adeqaeen

() HIHR T AHE

(d)
(A)
(B)
(&),
(D)

SRTfdeh  SATIR F&eT
(b), (c)
(c), (d)
(@), (c)
(a), (b)

18



48.

49.

50.

zFever.*

Which of the following regional
groups has the lowest percentage of
intra-regional trade ?

(A) SAARC

(B) Mercosure

(C) ASEAN

(D) EU

Which of the following statements
is correct ?

(A) Conflict in Chechnya is an
example of genocide

(B) India and China have a border
dispute over Tibet

(C) Kosovo fought a war for
secession from Croatia

(D) Indonesia and Thailand have a

maritime boundary dispute over
Spratly Islands
Match the pairs and select the
correct answer from the codes given
below :
Column I
Disputed border in Jammu &
Kashmir
Disputed border in Aksai Chin
Dispute over Sir Creek
Dispute over Farakka Barrage
Column II
River water dispute
Dispute over territorial waters
(3) Line of Actual Control (LAC)
(4) Line of Control (LOC)
Codes :
(@)
A) (D
B) 4
C) @)
D) (2)

(@)

(b)
(c)
(d)

(1)
(2)

)
(3)
(3)
(2)
(4)

()
(2)
(2)
3)
(1)

(d)
(4)
(1)
(1)
3)

48.

49.

50.

DEC - 15213/11

GTeATeTIeht ShIOTeT &5 TRTHEA QAT
YR YA TG HH AR ?
(A) 9=

(B) HhIEX
(C) sTfEam

(D) 39
Wielietden! v fauH sew o8 ?
(A) =TI G & SIfaesar SeTetul
3T
(B) 9IRA 31 <= Ar\ed fqee diaed
EICEE I
(C) ShITRTEA e el shidre
Ig ol
(D) ESMfyrEn 3mftr arele e Seet
ST 9l | o915 3R
I Sied1 Sesall S0 Tielt feeiean Hehd
T Y A IR el
w1
S AT ShIFTHAET foremar S
g fameiar foam dm
W wreren faarg
TR STl foarg
w11
T S faare
EIMNEIS KA EECI
(3) W&l fag=or e
(4) Tz T
Hehd Tl :
(@) (b)
A 1) @3
B) 4 @A)
C) 4 (2
D) 2) 4)

(@)
(b)
(c)
(d)

(1)
(2)

()
(2)
(2)
3)
(1)

(d)
(4)
(1)
(1)
3)
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ROUGH WORK
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